Hi Giulio! :-)

Calo jets means topocluster cone0.4 jets.
True jets means cone0.4 particle-level jets.

Track jets are those | make from tracks. Ignore
them if you want.

What you mostly want to see is Slide 4 (or 8)

Cheers!
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Again, but without requiring 20 GeV

Georgios Choudalakis -- U.Chicago



Object multiplicites (healthy detector)

2 5000 — — True jets
ﬁ - — Track jets
- — Calo jets
4000 —
- ) Selection:
3000 objects of |n| < 2.6
2000 —
1000 —
0 NI BTN B AN B R R BT R B ?‘:_l_l:f:l_'_l'—r*
0 2 4 6 8 10 12 14 16 18 20

Counts in single event

Georgios Choudalakis -- U.Chicago



Object multiplicites (healthy detector)

2000 :
‘g - u — Track jets
o B
LL — -
10000 — — Calo jets
8000 — _
B Selection:
B objects of |n| < 2.6
6000 —
4000 —
2000— JJ Jﬂh
: | — [ —
u:| 1 1 _IIII—!_‘—I _r;—I—Dj—I_I—I_I—II—l_Illhllllllll
0 0.5 1 1.5 2.5 3 3.5 4 4.5 5

Georgios Choudalakis -- U.Chicago

reconstructed / true jets in event



Object multiplicites (healthy detector)

S - — True jets
a;:' 10° = — Track jets
- - — Calo jets
10% = Selection:
- objects of |[n| < 2.6
10° =
102 =
B |||||||||||||||||||||||||| RN TN N NN T TN M N N N M N N
0 0.5 1 1.5 2 2.5 3.5 4 4.5 5

Georgios Choudalakis -- U.Chicago

Objects within AR<0.4 from true jet



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8

